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‘GCSE Mathematics
Practice Tests: Set 4

Paper 2H (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.

Instructions

e Use black ink or ball-point pen.
e Fill in the boxes at the top of this page with your name,
centre number and candidate number.
e Answer all questions.
e Answer the questions in the spaces provided
— there may be more space than you need.
e Calculators may be used.
e Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
e Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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D\‘Jﬂwﬁ Cimoslrohe,
Answer ALL questions.

Write your answers in the spacesiprovided.. . - -
¥ ¢u must write down ail the stages inyour working.

(a) Complete the table of values for y =x> +2x —3.
Y=EON2() -2 etc.

X —4 -3 —2 -1 0 1 2

y | S5 I3 % |-3| O|F

2)
(b) On the grid, draw the graph of y = x> + 2x — 3 for values from —4 to 2.
-TA X
6
2 )(-?;L b
-5
-3
(2)

(Total 4 marks)
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2. Nick has 2 cars.
_ Car A uses petrol.
o0 CarBusesdieseli oot

bl

i’erol costs £1.39 per litre.
Diesel costs £1.47 per litre.

The table below shows the average distance that Nick can drive each car using.1 litre.
of fuel...

Car A 10.3 miles per litre of petrol

Car B 14.6 miles per litre of diesel

Nick is going on a journey in one of his cars.
The distance Nick is going to drive is 450 miles.

Work out the difference of the total costs of the fuel for the 2 cars for this journey.

Car & Car ®
Pearo| Lires = %S° Dogs) Lives = &3O
e %€
=~ 43 .68~ e i
Cost = w3689 xLt3y| Cest ~ 2o.Y2I X £|.W%
= = 4452l
- N
Feo (247) (2 p)
' = EM Ay
D.'gemw, M o3t S £33 £ ——
sy f’(guz ..............................................
(Total 4 marks)
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3.  Stefanis x years old. =, : \ O&ﬁn
'W\-g V\QO(/U\ ef
- “artin is-3 years younger than-Stefan:’ 7«07 0L P S v
Yames is twice as'old as Stefamzi . .- - - ‘ T

The sum of their ages, in years, is less than 30
Work out the oldest age Stefan can be.
Give your answer as a whole number of years.. .

MM:')L

Marbhn = - T

/Sa_w's =, 23(_

Total=2G Stedent Markn + Jeanes < 20
e 4= m=E ¥ W £ 30

Colleck
Lee = S A
- & Q. FE

L_afaess‘r Y. Conlor oy G\ o™ = &

(Total 4 marks)
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4.  Neville saw this car for sale.

S He gota discount.of 25% oﬁ' the pm:e of the-car..
He paid £7200.for thecar.:

Work out the price of the car before the discount.

loofe = <

(23¢) | /o

(<o) (00 %o

Quverse 7o

100% — 25 %o :%Q'ZOC_,
?’rb/c — f?m

£9¢

= 6D

(Total 3 marks)
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5.  Shabeen has a biased coin.
The probability that the coin will land on heads is 0.6.
Shabeen is going to throw the:coirm 3 timesz « 7+, 7, -
She says the probability that the coin will land on tails 3 times is less than 0.1.
Is Shabeen correct?
You must.show all your working.
Plhead ) = ©-6
Teu | Plll) = Vo6 = oY
Qfébq\m\AD _
BT P(taud ol teud ench bcui.)—:o-q— X oY% KO. .Y

- 0-Cey+

Shakeen s cormect si~ce Ooe4 < 0.

(Total 3 marks)

Practice test paper 2H (Set 4): Version 1.0 6



6.

£=1{1,2,3,4,56,7,8,9, 10}

4 = {evennumbers}.’ . . -

v — {multmples ot 3} ~ - °

(a) List the members of set B.

(b) Find AU B

cé
A’:Q[ZlurrG[g I |Og
@ :&Sfr(u(qa

(c) Find 4N B
Aol

x is a member of &
xX€ERB
x&A

(d) What are the possible values of x?
necd =D &‘5,6,0«3

xEA D foadd =& 13, SFA3

Set Notapor

ey
2346240
1)
S

ey

....... x=3er .
(2)

(Total 5 marks)
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7.  xand y are integeTs such that
® : - Lo
@ and —i Ny s

Find the values of x and y when x =y.

@ ‘“2,‘)10: '}g

p—————

@ 011112,3”—"

(Total 2 marks)
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8.

&J\f\?\xv'ﬂ

P
Keith, Ben and Liz tested a coin to find out if it was biased.
They each threw the coin a number of times.
‘Uhey counted. the number of heads. and:the number of tails they:eaehigot.. .o -« -7 et
- li¢ tablesgives- miormarion apout their resulig- = °
Keith Ben Liz
Number of heads. 12 34 St
Number of tails 28 66 243

(a) Which person, Keith, Ben or Liz, will have the best estimate for the probability of getting
a head on this coin? Explain your answer.

L_?-?_— "-'_i-.:mc;z S\ @ef‘@ym&d g oSt hrrels- H-e)’

(b) Using all the results in the table, work out an estimate for the probability that the next
throw of the coin will be a head.

Number cap, oo ds = \v2+2W-+ SF+ = (Heard

Nomber o dosls = 28 +66+2u42= B2F

P (heao) = Nuwbes o hawds = 103 = NCTR
{c:-\—a_,\ Tvuoroa—r S 234+ 3 4% O

= O.23%
(20 0)

(Total 3 marks)
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9. ABCis atriangle.

FAEEE: T Diagram NOT

carelebvairawns.. 21 1o

D is a point on AB and E is a point on AC.
DE is parallel to BC.
AD=4cm, DB=6 cm, DE=5cm, AE= 5.8 cm.

Calculate the perimeter of the trapezium DBCE.

g;m3\af5\"‘?°s
AR 1BC
A0 T De

AL = AB.
A
AE+ £C = AcC

rogedet v

A A
S A e
E
D o 5 C
3
e - 9
T = '}- = Scale Pkci-ur = .8

:j = e S e
X

_ 1o
S:F ¥

£% = EBc

D 5
-y
B

e~ E
2-Fcnn %2 -2
S

L Sem (Total 4 marks)

Perumasar

- G Scoa+ 8- Fam L T e
= 3Q.Qea—
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10. Joe and Ann buy some fruit from the same shop.

soebuys-. 4apples and 3bananasfor-£2.505%: % v v
~ Annbuys: 3 apples.and 4 bananas for £2.40:. - .0 . .

Work out the cost of

(i) one apple,. ® L&-m i T = QS’O

(i) one banana.

@) Do rwb B T G

CD S¢ 72 . @ |’2,G'L‘*qb: ’:}‘Sbo
D sy &) Leat+l8o=4a.60

® -& - e & PIME S TR0
' ®® Vle Qo= TS0

———

Fo= 2-10
Subshiie nn (D Lo +3k = i

a0y = 2-F0

ua +0.4q0 = 2. SO

(-0 <0) Lo = .80
(1) one apple % ................. P
(i) one banana :ws s Fgo ................ P

(Total 5 marks)
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11. Gail invests in an account that pays compound interest of 5% per annum.

:{ow many, years.does it..takecto,-douhle,.ﬂm-monejsz-in.her;ixwestmemt?‘_;,‘..:. ! 5, G, o
| gu—}ppc':‘-{ Coal S g Ry Lo, ..
\fE=1.. LooX (.05 = Z©OF
L=, too xtos = o2t

-
If 6= 5 .. Zico<\vos = 403 €2

1F E =12 .. £ 100 Kf-OS:L: 4 39.5%

’F - SR P £ oo el aE = 2G7.a9
O é
lﬁ%:lgf %too <loS - 07 &S

o fakes 1S GeﬂfS.

(Total 2 marks)
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12. There are only

4 mint piseutsy s oo
and. 1 toffee biscuit in:a tim. & -

There are only

5 mint sweets
and 3 strawberry sweets in a packet..

Michael’s mum lets him take one biscuit from the tin and one sweet from the packet.

Michael takes a biscuit at random from the tin.
He also takes a sweet at random from the packet.

Work out the probability that either the biscuit is mint or the sweet is mint, but not both.

s P, p&cw,l-

/S?;‘/ 'N\MJ\'-

- A
f

o AT PR 3

/ ? S‘VAW‘:IQ)'_‘j P(M(S)'; 3'-_"" g =':.|,O

i el o

P(T(M\ -5 K}S_’ T wo

"F\TG‘H-QL {y W\wﬁ"

%"’ SH&W\;M:S

(Total 3 marks)
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13. The diagram gives information about two pamtmgs A and B
Zach. pamtmg isin the shape of arectangle: 703 -l TeE L

30 cm A
B 35ecm

(2x— 10) cm (x +20) cm

Painting A has an area 1725 cm? bigger than the area of painting B.

Work out the area of painting A.

Pmnﬂ}g A cuea = wa\\vﬁ 2 srat 18
Pc:u.wﬁl*l\ﬁ ngz_ch +_Uq-2'§-

PArec SO (2% -10)
e i3y
e —1g) = B8 (ar20)
Areo. SO (
Gl e~ NG o BE R DO +(+2$
colhelt e = SO0 § SS=t e T ¥ Ly
(+500) 10O W = TSR TEAEY
(-35) GS ~» = 2428
= Y
(< &5) s 4
D'wng‘a\se’pﬁ- 22 l ] ™ lﬁ = Sy
2us)#o R P
feenzloaw | Frs BOom = Haon i 000 o
= 3 (Total 4 marks)
14
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14. The average fuel consumption (¢) of a car, in kilometres per litre, is given by the formula

where d is the distance travelled in kilometres and f'is the fuel used in litres.

d =190 correct to 3 significant figures.
f=25.7 correct to. 1. decimal place.

By considering bounds, work out the value of ¢ to a suitable degree of accuracy.
You must show all of your working and give a reason for your final answer.

&M"CLSGJ:d ol:l"\O C?’S-‘c—) lS-p= | \"‘T'?.‘_'C).S-.
: . +0%_ go-€ = Amex

TI (89T = Ao

&W\dﬁ@ﬁf )E = 25 % (ld'p) \dp=ey O©ANTL=S:O
%S‘ZS_?S-: 'PMR)C

15 %
-OD\J_‘?,§-CS‘ = -pmw\'

Cma,(;&"%’( {ase = BE-F. 5 I .426%0...
Fis 256

Gun'-dmm' Coan™ = 95 = SEENLL..

{T: 2. 18
*Sw.ﬁb(:l.acm H -
roons - J S = 4% (\ChP)
C,,.AK:CM

(Total 5 marks)

Practice test paper 2H (Set 4): Version 1.0 15



prreﬂxwwdﬂfawv%

15. Here is a sketch of the graph of y =9 — x%

i

B T R WL L e

9
@

4 -5 5 1 & |

R 4

b ]

(W8]

F Y
P

The graph is used to model the cross section of a tunnel.
The unshaded area is the cross section of the tunnel.

Calculate an estimate of the area of the cross section of the tunnel.

Areo LY o Cuve .l = Preo (D) +AaQ @-‘rMo@
A\(Qp,@ = el = VT - 5
& o =
= e 2.
Preo. &) = hiatb) — ((813) = 12
T e I >
—_ ._g_. \ <
~
(w2} tor i Secuast BY w2 = BS 35,
fl 3 qm,\ -~ S e | 3
PW‘EO@ ’ (Total 4 marks)
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16. The number of rabbits on a farm » months from now is R, where
R, =200

R, =12R, —35

n+1

How many rabbits will there be on the farm 3 months from now?
R.= 200 = ANS
Ko =hvpimas) ~ S5

EQ'H - 205

2 = 20X
K~ =2l
Da = 215.2 2~ 2\% midots

(Total 3 marks)
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17.
[
% e
In the triangle XYZ )
XY =28.7cm, ‘ g&)’ TA\O’@(Q (SLNZ'
YZ=11.6 cm,
Angle XYZ = 52°
(a) Work out the area of triangle XYZ.
Give your answer correct to 3 significant figures.
\ -
frow fabaiC | = 5 x Brm e 5 (52)
= B et (>s ¥)
’3 q . K 5
............................................................................................ cm
(2)
(b) Work out the length of XZ. N
Give your answer correct to 3 significant figures. CO Yang QU'LQ
COS‘N\L. Al
2_172,.2 L 1
a“zb%c E’Zbc coc A\ o e ] o G B) _Q_(q.’.})(([.Q c,oS(S‘?_)
o 3-F
2 stz S MR-, .
3'2(
B L
B e —————— o —q‘ ... C
3
(Total 5 marks)
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18.
T  Diagram NOT -~
LELY J1aWIL
\C L
\ P
In the diagram, ABC is the line with equation y=- %x 15
AB=BC
D is the point with coordinates (—13, 0).
Find an equation of the line through 4 and D.
B co-adunats 2= (0/5)
? R
C co-ordunale - zx +3
2.~ 3.1
— O oADOiS O =
(—1—-1 ) J'i, =
i
(<) Y BN T (10:0)
AS=BC -
| (0-10, g+&) = (-10,10)
; iﬂ( Co-crduncde
A :(-lo,po)B:Grj,O) S e NN o 1D ~£3 - 1o
(o= 3
U::macﬁc L =i
=2 T Using AL l0o=L (—m)-I-C
@ 5 Lo !
1o =~y c ik =
( + %")) Tﬁ -c (Total 5 marks)

:j — v +C

= 19 4+ 30
el

wic
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19. & is inversely proportional to the square of r.
Whenr=>5:h=3 45 w0

Find the value of & when r = 8.

e
‘nm?«{?&r\w\ W L rE
b = 'EZ h= BS
» %
f‘
Subshtute Tk
i h= 8
(K_zf) 2T = 1 (g)l

W= &Y —\=z22gnl
&Y

(- BLEVES

(Total 3 marks)
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20. Solve
x+3 2x-1

(x(2)
expond]

e w BIREFE . = (_)(_,,35
l+ # 2

(25 Fo(o0r?) = (>2) (2> 1)

gy~ BxFA = 2 - 16% =

= QJLLJr{DL'Z

I\ + T
= s P Tl s B
O = et 6% =&
O = ez —Y
O o ()

~x-4 —o o x+=0

C'H-J.\) ’2:___— =L o (-l)]'x_.-_—l

(Total 5 marks)
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21. The histogram gives information about the speeds, in km/h, of some cars on a road.

Frequency -
denmsitv. L -

70 15 80 85

n

50 35 60 6
Speed (kmv/h)

Work out an estimate for the median speed.

Give your answer correct to 1 decimal place.
Y ou must show your working.

- @gxz..:r)Jr(u’Jr )(’4.§>+ (25 <S) +(_+ *“3')

Toted A
:Swnojlc,mggi = Ay ¥ X328 + WO + jas
- GHF2-§
Medton = €92-C = BUE.2T™ tem (G tom forlogen)
Z 2

295 = 25 | ... 25 | boves 1ike Sex 628

= BlEL
H-:%/h]r\lj':{"‘/)— 251 T S (Total 4 marks)
G;CD[LMA'/U\ TOTAL FOR PAPER IS 80 MARKS
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